o QLB 7| A B (F|04-37%)
- o . 2] I ~ 042 |
SFET|AH (82 7|7F 2024 04 19€ 06A| ~ 04 20 06A])

ol 06A| 23 ] CER R
- LY QBEE Y4 o -
> L7170
O ST (06A]), FASE2 S 7t20 MEO0| ktZ 210 A'H2 10km O|AL|CE 251922 MF=EFS|MM HEZo2
O|3dt= 7|el Sets UL, UM = S LICh
O WY = dol0] RE20M S5F22 0|S5t= N7|¥e| Febs Akt 220, L 8EH S22 H|7t Li2| S L Ch
ofl & Z|X/x|217|2 () ol & Z==2Hmm) of & HHd(em)
(2s)-/20((WHY)11/14 (L1 ) 5~10

> 2l 7IdoE

O (F& A8 UE@0Y) 8|7t LiE]

= &2 AH0[ 4km L{Q|2 FOMX| 21 1,000ft O[Stz HOFE W7t QRS LT
AlZtE ZHiE o =2
EYTRl | ECC MEESTHEDIT  se=wsea | Gooo | webiow | FooR
s o2
06 o7 08 09 10 11 12 13 14 15 16 17
F2/guE >4 > 4 >4 >4 > 4
o W W W W W W Ve
g =29 =Z9 =Z9 =29 = =25 =35 =Z'5 =5 =3 =35 =Z:5
Hch=thE A5 K B H HE5 EN R 5 W23 [ E] S 3 23 H HE3 S
e E8.260 ET.260 28260 28260 E8.260 ET20 %20 ) 20 ET20 2820 2820
IG(;-‘;T 25110 2410 2410 4110 24110 246 246 246 246 246 246 246
199 20
18 19 20 21 22 23 00 oL 02 03 04 05
ZZ/HE > > > > > >
o Va Va W Ve Va W
[ ',:’n =25 ==5 ==5 =z5 ==5 ==5 ==g =g =z zzg ==3 =zg
HchzehE o HE3 = U3 H B3 = HIE3 o HE 3 = U3 R B = BiE 6 o HE 6 = HEs R ETS = BiE 6
e E%20 220 E820 Ea20 E%20 Ee20 8270 Eg10 Z9:270 Ee70 870 Eg270
.'(-&L(IST B4 ER X EEA EEA] E£6 EEX3 E2110 E£10 210 210 E2110 EES]
X E5Z/EHE2 SEE F 20| Cieh HiEHS 205, tHel= k) (O '53: 4= £30| 4kt S 2|0))
> e
Ho
HATD
O &aAr
X374 S RO Ciet XM Al 28 7| &8 8 0| X|(@amokmagoknOfA] =tQleh = U L|C.
X AT 20| EERE MoHS Bl FAXH S 7 AR IS = O £ 10F (TEL 032-740-2855 / FAX 032-740-2817) 2 2e{ZFA|7|
HFEFLICH




